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PART -1

Nursing Aptitude

First Aid applied after Burn depends on-
A. Depth of the skin damage

B. Gender of the wounded person

C. Distance from the First Aid Centre
D

. Availability of Ointment and
Medicine

The system which protects and supports
body organ is called-

A. Skeletal system

B. Nervous system

C. Integumentary system

D. Immune system

Excess presence of which of the
following causes tooth decay in
children-

A. Chloride
B. Fluoride
C. Hardness
D. All of the above

On which date the “Swachh Bharat
Abhiyan” was launched?

A. 15 August 2014

26 January 2015

2 October 2014

2 January 2015

O 0O W

1.

Tt erferermar

STet o ST gTertheh ferfercam 39 ox fasf
AT =B-

A. o Sl af s TS

B. ®IRIe oAk o fof

C. srefie wareed &5 i 3

D. 3ifieHz 31N gdTE T SuAsY BT

JUITEAT ST IEIT o ST ohT T&IT 3 TE &t
g, et -

A. ShehTed JuTTeAt

B. dfenT Jorett

C. hicT T JUTTeAt

D. e af

o o o frereht 1feres Sufterdt 29 & st
o 3fd § TS 4aT Bl 8-

A. FANES

B. wINES

C. 3

D. TR Tt

for® faHTTeh ol “Ta= RA AT Y[
foparm Tm?

A. 15 3T 2014

B. 26 SHeRI 2015

C. 232014

D. 2SHat 2015
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5. Most common site of Intracranial 5. AferehisT SeUshi-aet IS (TFHHEN)

hemorrhage- AT BT &-
A. Cerebrum A. "fass
B. Cerebellum B. rHfTsh
C. Basal ganglia C. g e
D. Midbrain D. HeaHftash
6. Which one of the following is the main 6. f=fafaa o & s a1 afEar sweamr
target of family welfare program? hTsHY T I A& 27
A. Couple in the fertile age A. TS & 3T o T
B. Male after fertile age B. SIS &7 3Y o TG o T&¥
C. Children below 12 (Twelve) years C. 2N AFTITF =g
D. Women after fertile age D. YS9 &8 39 % o€ sy &t
7. Which of the following disease is 7. f=fafad o 9 i |1 U HIET A o
related to Corona virus? Hefirg &7
A. MERS A b
B. SARS B @
C. BothAandB C. A 3NBaH
D. Neither A Nor B D. TA 3B
8. The starting point of Tuberculosis of the 8. fig s eggl o & UM bt el ferg 8-
spine is- A. e e
A. Nucleolus pulposus
B. Vertebral body B. T e
C. Paravertebral joints C. WW
D. None of these D. T ¥ &5 &I
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10.

11.

12.

13.

Dimension of public health-
A. Health promotion

B. Disease prevention

C. Rehabilitation

D. All of the above

In which defense mechanism anxiety is
expressed through physical symptoms?

A. Projection
B. Conversion
C. Regression

D. Repression

In India when did the second phase of
Covid-19 Vaccination started?

A. December 2020
B. January 2021
C. February 2021
D. March 2021

Which of the following is determinant
of health?

A. Environmental factor
B. Weight

C. Behaviour

D. Location

In which year National Health Policy in
India was implemented?

A. 2002

B. 2001
C. 2007
D. 2013

10.

11.

12.

S TTEY 3 3T 2-

A. T YER

B. T wfcreror

C. g

D. 3w aft

ferer Terenep foparmforter o feiam sTifees veor
o T WIS <hl ATt 87

A. &9

B. 9f@Edq

C. et

D. g

VT H hiTerS- 19 o GEL =107 o1 el el
RIACRIRIRI

A. feam 2020

B. SHa{l 2021

C. w2021

D. ©E 2021

frafafaa @ @ =i Ty =t i 82

R T diferelt Wi # fope o o
AT 26T TS off?

A. 2002

B. 2001
C. 2007
D. 2013
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14.

15.

16.

17.

The ability to understand ones own 14.

behaviour and emotion is called-
A. Judgement

B. Insight

C. Intelligence

D. Personality

Which of the following human disease 15.

is caused by Bacteria?
A. Hepatitis-A

B. Typhoid

C. Measles

D. Polio

What is the another name for two way 16.

communication?

A. Workshop

B. Socratic method
C. Didactic method
D. Simulation exercise

Child Nutritional status measured in 17.

terms of three Anthropometric
indicators they are-

A. Stunting, wasting and under weight

B. Mortality, morbidity and under
weight

C. Body mass index, morbidity Rate,
dependency Ratio

D. None of the above

I SR ST HTAT hl THSH sh &THAT
1 hEd 8-

B. Jiagf®
C. sftewmar
D. Sfthed

77 & 9 0T 97 7 T T HROT ST
T 87

A. TURTEE-A
B. 3SR
C. @|q

D. difern

a1 A% © WL ohT ET ATH T 22
A. FHEETET
B. SR St

. SareTeHes fafer

C
D. €ad SAIhI0T I+

=<l ST YISO 31T T 19 o 3 i
HTERTH T ahieh o-

A. e, f[Heferdr 3 9 o

B. ToIET, W oh! TAT 3R 7 a5

C. SISl HTE arshish, T ohl €, fftar
CERIGH

O

D. 0 9IS ot 7
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18.  What is the tool for community oriented 18.

care?

A
B.
C.
D.

19.  Malnutrition does not include- 19.

Evaluation

Survey

Community survey

Community health Nursing process

A. Inadequate Nutrients consumption

© o w

20.  Janani Suraksha Yojana is a- 20.
A.

B.

Overeating of Nutrients
Excess loss of Nutrients

Saturation of protein

Hundred percent Centrally
sponsored scheme

Hundred percent State sponsored
scheme

Centre and State 50-50 percent
share

Fully sponsored by the private
sector

T 3 @A I 2 (3TN T 82
A. TR

[\

B. e
C. auem fdveor
D. HTaTHeh ey TiET qfshn

LR EERIESECES

A. 3TIITE YIS deai Sl ST
B. TIYeh qcal 3T STTeeh STHMT
C. Iy dcd o1 TEfid g
D. WM i Eqfw

ST T FTSHT 8-

A, Et SRR s STTTST ST

B. @i T YRS AT

C. % 3R T=T T 50-50 Tfcrere wrerart
D. ot we @ fsft & g o
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PART - 11
Physics

21.  The ratio of energy of emitted radiation 21.

of a black body at 27°C and 927°C is-
A 14

B. 1:16

C. 1:64

D. 1:256

22.  Which of the two have same 22.

dimensions?

A. Force and Strain

B. Force and Stress

C. Angular velocity and frequency

D. Energy and Strain

23.  The mass of a planet that has a moon 23.

whose time period and orbital radius are

T and R respectively, can be written as-
A 47?R3G7IT2

B. g:2R3g 112

C. 127%R%G 112

D. 16 TI:ZRgG_lT_Z

Hifeh foq=

0T SR © 27°C AT 927°C 1Y T ISl

ferfoRToT 3SITaAT T STTHTA BTT-

A
B.
C.
D.

1:4
1:16
1:64
1:256

o 7 <t formmer T 22

A

B.

C.

D.

o T forRfa
ECKRIBIRC]
IV T qIT ST
ISt qer forapfa

foref) T2 o T=gHT T ST I T e
el Brsar R 81 a1 39 U o gouA foran

ST el 8-

A

B.

AnPR3GIT2
8r?R3G1T2
12?°R3G 112

16 t°R3G 112
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24. A ray of light incident normally on a 24. U GHeIUI EHTSETE fISH OX e wehTet

isosceles right angled prism travels as fopor srfiretrarera ermufaa ardt @ (RemEm),
shown in the figure. The least value of N S rn'—r‘aﬁqu
the refractive index of the prism must 2
be- %ﬂ-%a-
A2 AL
B. 3 B. 3
C. 3 C. 3
2 2

o
[N}
O
)

25.  According to Bohr’s theory the moment 25. S feaTd % TR BESISH WA
of momentum of an electron revolving fordia e T 7T oFtd 23 Soide™ o HaTT o
in second orbit of hydrogen atom will : = B
be- T e-
A. 2rh A. 2rh
B. TCh B. TCh
C. h C. h
T T
D. 2h D. 2h
T T

SPACE FOR ROUGH WORK / &% &Td & fo1 e
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26.  Two soap bubbles A and B are kept in a

217.

closed chamber where air is maintained

at pressure 8N/ m?. The radii of

bubbles A and B are 2 cm and 4 cm
respectively. Surface tension of the soap
water used to make bubbles is

0.04N/m. Find the ratio ”%B,

where np and ng are the number of

moles of air in bubbles A and B
respectively. (neglect the effect of

gravity)
A 2

Three rods, each of length L and mass
M are placed along X, Y and Z axes in
such a way that one end of each of the
rod is at the origin. The moment of
inertia of this system along Z axis is-

3
B. 4mL?
3
C. smL?
3
D. M2
3

217.

T 1T H "I UT % 2 Sefeel A 1B
o &, [ehl BIsaml shEst: 2 cm @I 4 cm

&1 30 HIY F ST A H 8N/ m? T T
T T 3] At S o fordt IwivT fordt
T 9T 3T I8 1 0.04 N/m 8| 3FATq

n ¢ ¢
A”B' 6T TUMET R ST Np TAT NG

SREST: A T B Seell § a1 o HicAl shi
HEAT | (TECATShNUT ok THTal bl HT0 HH)

MEIHH T L TS s da Bs X, Y I
Z &7 % SN 36 TR Wl Sl @ foh
31 U ot e foreg e 3| 39 Fehrr =t
73183 % it Sigcd AT Er-

3

B. 4mL?
3

3

D. M2
3
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28. At the top of the trajectory of a 28.
projectile, the acceleration is-
A. Maximum
B. Minimum
C. Zero
D. g
29.  Electric potential at any point is 29.
V =-5x+3y++/15z, then the
magnitude of electric field is-
A. 3\/5
B. 4\/5
C. 52
D. 7
30.  The minimum wave-length of X-rays 30.

produced by electrons accelerated by a
potential difference of volts V is equal
to-

A. ﬂ
hc
B. ﬂ
cV
C. E
eV

D. ﬂ
eh

fopet sr&ie o ATt o fYreR oX cawor BT 8-

fereft fermg o ferega fervar
V = -5x+3y ++/152 2 foega &= =
qiToT 8-

A

B.

C
D.

32
a2
5.2

7

V diee fave=i O caitd st @i g
SeaTfed X -fereott a1 =gam ot 3ut g

A

eV
hc

ﬂ
cV
E

eV

ov
eh
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31.

32.

33.

A 5V battery with internal resistance
2Q and a 2V battery with internal
resistance 1Q are connected to a 10Q

resistance as shown in the figure

P,
5V |- 2v
20 T 10Q =7 19
P
The current in the 10Q resistor is-
A. 0.03A Pl to P2
B. 0.03A P,to P
C. 0.27A P 10 P,
D. 0.27A Pyto P,
A 16 uF capacitor is charged to a 20V 32.

potential. The battery is then
disconnected and pure 40 mH coil is
connected across the capacitor so that
LC oscillations are set up. The
maximum current in the coil is-

A. 0.2A
B. 40mA
C. 2A

D. 04A

The minimum distance between the 33.

object and its real image for concave
mirror is-

A f
B. 2f
. Af

C
D. Zero

31.

fermTER yefkia foreft 1002 icrrer o @mer
Tah 5V sl skl ot staftes afaer 20
AT 3GhT 2V T et} fSrenT A=afies
gferier 1Q 2, 1 Gaifora foram mam 2-

_2v

+ 10

5V

|
=
o
@)
Il

2Q0

100 TfRTer & YaTfee mT 2-
A. 0.03A P EP,
B. 0.03A P, ¥R
P ®P,
P, ® P

C. 0.27A
D. 0.27A

16 uF o Teh YT =T 20V fonia e
HTARTA FTeh, el §2T X 40 mH [e2
Sehed oh ORI 9T STTeT ST 8, fSted LC
I 39T BN 2 e Pt i SAfershan
T Bl-

A. 0.2A

B. 40 mA
C. 2A
D. 0.4A

T T o | Torelt g o 9o
areafore irforeat 3 sffer =Fad g 2l
A f

B. 2f

C. 4f

D. Zero

SPACE FOR ROUGH WORK / &% &Td & fo1 e

202062-HYIT-ENT-JSK-E 12

Set - A



34.

35.

36.

Steel and Copper wires of same length 34.

are stretched by the same weight one
after the other. Young’s modulus of

Steel and Copper are 2.0x10M N/ m?
and 1.2x10''N/m?. The ratio of
increase in lengths will be-

A.

)
Nl MO GW gl N

A galvanometer of resistance 20Q is to 35.

be converted into an ammeter of range
1A. If the current of 1mA produces full
scale deflection the shunt required for
the purpose is-

A. 0.01Q B. 0.05Q
C. 0.0222 D. 0.04Q
An electron is moving on a circular path 36.

of radius r with speed v in a transverse
magnetic field B. &/ for it will be-

A v

A qAT did & GHH AFITS o dRI bl Toh
% 91 Ush GH YR 9 ©i=r Siar ) €
T Tl 3T AT TATEAT Ul SHHRT:
2.0x10M N/ m? qem 1.2x 101N/ m? 2

T qT Tl i SAvaITgal H (e T ST
ATT-
A 2

5
B. 3

5
C. 5

4
D. 5

2
20 Q) il ATl Teh FRETHT 3 1A 986
% 3T 7 giafad st =l afd ImA i
T 0T T Iea Sheelt 7, T 39 IRWT h
fordr ST T102 T A 2-
A. 0.010Q B. 0.05Q
C. 0.020 D. 0.04Q
T ST STIE lhid & B H v =TT
& r FISaT o TR T2 U T 3 T R
gah forr &/ &
Ay

Br
B. B

rv
C. Bvr
D. wr

B
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37.

38.

In a circuit with a coil of resistance 2Q,
the magnetic flux changes from 2Whb to

10Whb in 0.2 seconds. The charge that
flows in the coil during this time is-

A. 5 coulomb

B. 4 coulomb

C. 1coulomb

D. 0.8 coulomb

The equivalent capacitance between
Aand B is-

cC C C C
A— -

37.

38.

2 Q Slcrer et Ush e o aiaer §

0.2 HeHUS H Frefh I FAF 2Wb & 10Wb
& ST 81 39 99 N FuSel! § Se-ara
SIENES
A. 5%am
B. 4%
C. 1%am
D. 0.8 %™
A T B % S & LTiaT &l 6 -

C C C ¢C
A— H -
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39. Currenti in the circuit shown will be-

200
—A\WW <
30
> AWW—
i
T \ 5l P
AW I
200 5V
A. i
40
B. iA
50
C. 5
10
D. iA
20

40.  Two simple harmonic motions are
represented by Y; =4sin (4nt+%) and
Y, =3c0s (4nt). The resultant
amplitude is-
A 7
B. 1
C. 5
D

2+J§

39. foi 3 uftgy § 9wy i Bt

200

AW <l

30

> AW

TI \ -

AW I

200 5V
A. i
40
B. i
50
C. 5,
10
D. 5,
20

40. 21 HTeT Ted T o AHIRT
Y1:4sin(4nt+§)
Y, =3cos(4nt)
ST T f¥Td 21 SRt Tt ST B
A 7
B. 1
C. 5

D. 2443
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PART - 111

Chemistry LCIECACRIC)
41. The IUPAC name of the compound 41. Ifires T [UPAC ATHRT0T
(|3H3 CH;,
I
CH3_CI:_CH2_ (i:H_CH3 CH3_(i:_CH2_ (i:H—CHS
OH OH OH OH
is 2:
A. 4-methylpentan-2, 4-diol A. 4-ATIURT-2, 4-SF3T
B. 2-methylpentan-2, 4-diol B. 2-HfUeURA-2, 4-SRSATA
C. 2-methyl-4-hydroxy-2-pentanol C. 2-ufrd-4-regrat-2-U=eAre
D. 2, 4-Dimethyl butan-2, 4-diol D. 2, 4-SEHRSHA-2, 4-SHATA
42. |f electronegativity difference between 42. S T 3] o &1 AT o forgd
two atoms of a molecule is 2.0, the SUTTCHaRAT 3T 3T 2.0 B, Y 370 T ST
percentage ionic character of molecule e o7 B
will be- ©
A. 50% A. 50%
B. 46% B. 46%
C. 2T% C. 271%
D. 54% D. 54%

SPACE FOR ROUGH WORK / &% &Td & fo1 e
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43.  Match List-1 with List-11 and select 43, geft-1 ol gEll-11 & gHferd o e e

correct answer using following codes: TEAT O & 39T 99 i

Name reaction Reagent/Catalyst J_ﬁ & ﬁ__ 3

Ea) Cannizzaro]’s El) g(]Cz H5O)3AI] [ ] [ R
eaction (a) ShSRT TSR (1) (C,H50)3Al

(b) Stephen’s  (2) Pd/BaSOy, (b) W BT (2) Pd/BaSO,,

. Xylene

reaction Xylene .

(c) Clemmensen (3) Zn/Hg, Conc. ©) (3) Zn/Hg, ¥
reduction HCI EIRIER] HCI

(d) Rosenmund’s (4) SnCl, |HCI (d) THTUS (4) SnCl, |HCI
method EISIERI

(e) Tischenko’s  (5) NaOH () Toma=ht (5) NaOH
Reaction SRR

A. a-5,b-4,c-3,d-2,e-1 A. a5 b-4,c-3,d-2, e-1

B. al1,b-2,c:3,d4,e5 B. a1 b-2,c-3, d4,e5

C. a3,b-1,¢-2,d-5 €4 C. a-3,b-1,¢-2,d-5, e-4

D. a-3,b-2,¢-1,d-4,e-5 D. a-3,b-2, c-1, d-4, e-5

44.  Correct order of acidic character is- 44. 3Tt TRl T HEl R ©-

A. 80, >C0O; >CO> N0 A. SO, >C0O,>CO> N,0s

B. SO, >Ny05>C0O;, >CO B. SO, >N,Og >CO, >CO

C. N05>S0; >CO>CO, C. N,Og >S5S0, >CO>CO,

D. N205>S0; >CO;, >CO D. N,Os>S0, >CO, >CO

45. Which compound will not give positive 45. i o1 i1 ST ShITH FARIsS

chromyl chloride test? gyetor TE 9

A HgCl A. HgCl,

B. CuCl, B. CuCl,

C. znCl, C. znCl,

D. NacCl D. NaCl

SPACE FOR ROUGH WORK / &% &Td & fo1 e
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46.

47.

48.

Consider following reaction: 46.
CHgNH, — 22 5{X]—25[Y]

lNaCN

[Z]

lLiAIH4

[P]

[X], [Y], [Z] and [P] are-

A X [Y] [Z] [P]
CH3OH C,Hsl CoHsCN C,HgNH,
B. [X] [yl [Z] [P]
CH3COOH CHgl CH3CN C,HsOH
C. X1 [Yl I[Z [P]
CH30H CHgl CH3CN C,HsNH,
D. [XI [Y] [Z] [P]

CH3NO, CHg3l CH3COOH CH3NH,

The observed molecular mass and 47.

calculated molecular mass of an
electrolyte MX, are 65.6 and 164

respectively. The degree of dissociation
of the electrolyte will be-

A. 85%
B. 75%
C. 65%
D. 25%

The enthalpy of vapourization of a 48.

liquid is 30kJ mol ™t and entropy of

vapourization is 75K tmol ™t

respectively. The boiling point of liquid
is-

127°C
400°C
250°C
327°C

o0 w»

e srfufsran w fomm Fifs:

HNO» Pl3

CH3NH,

[X]—>1Y]

lNaCN
[Z]
lLiAIH4
. [P]
[X], [Y], [Z] & [P] &
A X1 Yl (2 [P]
CH30H C,Hsl C,HsCN C,HsNH,
B. X1 Yl [Z [P]
CH3COOH CHgl CH3CN C,HzOH
c. X1 [Yl I[Z [P]
CH30H CHgl CH3CN C,HsNH,
D. [X] [Y] [Z] [P]
CH3NO, CHzl CH3COOH CH3NH,
T forerd 3Taerem MX, a1 Siféra sTorforsh
OTAT U qiehiord STTuTereh | ShU9T: 65.6
T 164 &) ore[a SToee o s st 7T
-
85%
75%
65%
25%

Cow>»

ek 5 o1 STieRtor gredt 30 kJ mol L
& STAERT Tt 75 JK tmol ™t sre:
R o T FTTH &-

A. 127°C

B. 400°C
C. 250°C
D. 327°C
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49. With reference to transition metals 49.

consider following statements

(@) The catalytic activity is due to
multiple oxidation state of metals to
form complexes.

(b) Alloy formation is due to almost
same metallic radii.

(¢) The colour of Sc3* ion in aqueous
solution is purple.

(d) The formation of complex is due to
small metallic size and vacant ‘d’
orbital.

(¢) The magnetic moment of Mn?* ion
is 1.73 B.M.

Correct statements are-
A. (a), (b) and (c)
B. (b), (c)and (e)
C. (a), (c) and (d)
D. (a), (b) and (d)

50.  Benzaldehyde on treatment with 50.

malonic acid in presence of pyridine
base forms cinnamic acid, the reaction
is-

Claisen-Schmidt reaction
Knoevenagel reaction

Perkin reaction

o 0 W »

Witting reaction

HohHUT deal oh Hed | 9+ e W fo=m
HIfS=r:

(a) GTAT o ScSH ToRATeietar Heht frmior
T 9 ST ST & HR 2

(b) THereng Fmior ey TH atfeash
e & FHoT R

(c) et foreaa & Sc3* a1 v Gr S
H

(d) HeRt AR T 0T =3 efearsh
IR el Tk *d’ el o HHoT Bl 2

(¢) Mn%* ST st <rsrhi Srept
1.73 BM. ®I

e e &-

A. (a), (b) T (c)
B. (b), (c) W (e)
C. (a),(c) T (d)
D. (a), (b) T (d)

Seeeiere Uiy sa it suftafa &
Aeifes 31T @ foram s . fafires st
el oar 21 stfferan 2-

A, FoeA-Rae sAfafen
B. A sAffsham
C. dferd SATTsRaT

D. fafdm safsrar
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51. Four colourless salt solutions are placed 51. IR GUT o LTS foreta Sl TR Jorh-Tor
in separate test tubes and a strip of qTEA T B T T & U Yo e |
copper is dipped in each solution. f o
Which solution finally turns the solution @aﬁqg”raﬁ e T 31 o *
blue? &1 = et 81 SR
A. Pb(NO3), A. Pb(NO3),

B. Zn(NOy), B. Zn(NO3),
C. AgNO; C. AgNO;
D. Cd(NO3), D. Cd(NO3),

52.  Which of the following is an outer 52. fqifeRa © i Ueh SRy SATfeleet Heht
orbital complex? TR 29
A- [Fe(CN)g]*~ A [Fe(CN)g]*

B. [Co(NH3)e]%* B. [Co(NH3)g]*"
C. Mn(CN)g]*" C. [Mn(CN)g]%"
D [Ni(NH3)g]** D [Ni(NH3)s]%*

53. Inaclosed vessel, consider following 53. ue s u o e e srfufsrn
nuclear reaction: EERE AN
m m-8 4
zZA—>7-4B+25He n21A—>r2228+2‘21He
If half life (t%) of Ais 10 days, the N S—— (tyj Lo R

O 2 ?
volume of helium collected after 20 Tt geTe weRTIa Srefia o ST
20 days at STP will be:

STP T Er:
A 112L
A 112L
B. 224L B. 224L
C- 33-6 L C. 33.6 L
D. 448L D. 448L
SPACE FOR ROUGH WORK / T% & o forar srg
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54. Vitamin By is known as-
A. Pyridoxin
B. Thiamine
C. Riboflavin
D. Tocopherol

55. Among following which are
mismatched?

Metal Ore
(1) Zinc - Calamine
(2) Iron - Cassitarite
(3) Lead - Galena

(4) Chromium - Millerite
(5) Mercury - Cinnabar

A. (1)and (3)
B. (3)and (4)
C. (2)and (4)
D. (1)and (5)

56.  Which of the following pairs of ions
have the same number of unpaired
electrons?

(1) Mn%*
(2) cr¥*
(3) Fe3*
@ Ti**
(5) cu?t
A. (4)and (5)
B. (1)and (3)
C. (2 and (4)
D. (1)and (2)

o4,

55.

56.

D. TRl

et o et ot gafeTd et 2
ard IEh

(1) = - NICIEG]

(2) IEH - FHIRAES

(3) - T

4 wftrm - ficewse

(5) R - TR

A ()T (3)

B. 3)W(4)

C. QU4

D. ()T (5)

ForeT ST 3 1 © W H SRIfind soaeH

% TH AT 87
(1) Mn?*
@) crit
3) Fe*
@) Ti**
(5) Cu®*
A. (HTE(5)
B. ()T (3)
C. QU4
D. (DT (2)
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57.

58.

59.

60.

For a proton, an electron and an alpha S7.

particle moving with same velocity have
de Broglie’s wavelength follows the
decreasing order:

A. Proton > Electron > Alpha particle
B. Alpha particle > Proton > Electron
C. Electron > Proton > Alpha particle
D. Electron > Alpha particle > Proton

The number of S-S bonds in trimer of 58.

sulpher trioxide (S30g) is-
A. Zero

B. 3

C. 2

D. 1

If activation energy of a reaction is zero 59.

then the rate constant of reaction-

A. Increases with increasing
temperature

B. Decreases with increasing
temperature

C. Increases with decreasing
temperature

D. Nearly independent of temperature

In Friedel-Craft’s reaction, the 60.

electrophile is-
AlCI;

@

RCO*CI
RCO™
H+

o O

HHT ST 9 TIH Tk TIEH T et T
Teh UHT VT o To13l S SITed] qTeed aht
39 JhT HEdT 5hH =

A. TIEH > AFEH > THT HT
B. 3TCHI U > W > g
C. Sé&?ﬁ > T > 37T T

D. SHH > {HI T > T

ACHIITSHATRATSS o ZIEHT (S309) H S-S
ST shl HEAT 2
A I

[N

B. 3
C. 2
D. 1

afe feret Tramarfes stfufsra it wfsheor 3ot
S &, e affsra ot & i

A. TS % |1 e g
B. dafE 3 TTer e 2|
C. 9 Y L T a8

D. T d19shH ¥ Sds BT 2l

Sheel-shTIE STMITRAT & SoaIEEe &-
A. AlClg

B. rco*cl
C. rco*
D

H+
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61.

62.

63.

64.

65.

PART - IV

Biology

The early stage human embryo
distinctly possesses-

A. qills

C. Pinna

B. gill slits
D. Eyebrows

Sub mucosa is thickest in-
A. Stomach

B. Oesophagus

C. Intestine

D. Rectum

The first vertebra is-
A. Axis B. Atlas
C. Thoracic D. Lumbar

Pinus is a member of-

A. Gymnosperm

B. Angiosperm

C. Pteridophyta

D. Bryophyta

If a colourblind man marries a woman

whose father is colourblind. The
genotype of their offsprings are-

A. All sons colourblind

B. 50% daughters colourblind
C. All daughters are normal
D

. All daughters are colourblind

61.

62.

63.

64.

65.

GICAERIC]

STfTeh SFareer § A1 Y07 H €98 &9 § R
ST 8-

A. fireg B. fire foom

C. sreraui D. +ig

T TR R Her Wi BT 8-

g T 2-

A. e (mmaasist)
B. 3ATedsiiSit T

C. ferwEger s

D. SIS T

afe e ity gy forelt Ut Afeer @ foame
AT & fSreres foar gurfer 1 geht Gt o
SIER R

A. a¥fi g3 uiiy

B. 50% gt quiier
C. ¥t gt amr
D. &+ gt sty
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66.

67.

68.

69.

70.

Allantois develops from the embryonic- 66.

A. Foregut
B. Midgut
C. Hindgut
D. Tail region

Embryonic connective tissue is derived 67.

from-

A. Mesoglea
B. Mesenchyme
C. Mesoderm
D. Ectoderm

If the 3 bases combines to form a triplet 68.

codons, then how many codons will be
formed from such codon for the 20
essential amino acids?

A. 64
B. 16
C. 14
D. 54

Mucor is- 69.

A. Fungi

@

Algae

O

Bacteria

o

Virus

Which of them is in tracheate group? 70.

A. Crab-Centipede-Cockroach

@

King crab-Scorpion-Housefly

O

Spider-Peripatus-Housefly

©

Bedbug-Sandfly-Silkworm

UAUeTsd fohd yufier W & forshfér e 82
S pIE]

qE 3

ERCIE]

O 0o w >

T W
YT SIS Feloh fheE 3ca=T Brar 82
Hrafiern

B ECaR]
tfiered

TS

el vk Tt o et e s
2 i 81 S & 20 ST ST ST
Fora et oy IS Y

A. 64

16

14

54

2

O 0w >

OO w

TR 2-

[N

NCIG)

O 0o w >

fersmoy

O

TH & o 91 gfope T A 32
GeHA-HUSHATEHhHIE

o 0O w >
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/1. Function of molybdenum is-
A. Nitrogen fixation
B. Chlorophyll formation
C. Enzyme synthesization
D

. To induce flowering

72. Which one of the following pair is
wrongly matched?

A. Methanogens-Gobar gas
B. Yeast-Ethanol

C. Streptomycetes-Antibiotic
D. Coliforms-Vinegar

/3. ‘Heart of Heart’ is-
A. SA node
B. AV node
C. Bundle of His
D. Purkinje fibre

74. Who gave the cell theory?
A. Antony Van Leeuwenhock
B. Schleiden and Schwann
C. Robert Hooke
D. Dujardin
/5. Which state ranks first in wheat
production in our country?
A. Madhya Pradesh
B. Uttar Pradesh
C. Bihar
D

. Rajasthan

71.

72.

73.

74.

75.

frfotfad & & 9 |1 39 e gafea 22
A. HEHISH-TSR g

B. fie-3dMTer

C. WRmEbAS-gfsifas

D. ifer®H-fotert

“Bed I TS’ FEATd &-
A. SATIE

B. AVARE

C. dedt i fost

D. TRt HIgeR

Ao

aIfsTeRT foreaia forem femm?
A, TEHI I A
B. vefted ud g™

C. {aegh

D. gefed

3T 37 H T Ieare H i | U T8
T W 27
A. TEIIRIT
B. IR
. fo=R

C
D. TSEH

SPACE FOR ROUGH WORK / &% &Td & fo1 e

202062-HYIT-ENT-JSK-E

25

Set - A



76. In the presence of which enzyme does 76. ke =I5k o T <ROT H fohd UmsTey Y

the condensation of acetyl-co-A with Sufkefa o siadauiifees sTeet % aref
oKﬁZL(JSag)e/tclﬁe ;md in the first step of the BoiTired 10 SATZH-A bl 850 Sl 20
A. Aconitase A. T
B. Succinyl thiokinase B. @ferafet et
C. Fumarase C. B
D. Citrate synthetase D. @rgee fhaes
77. NADP is- 77. NADP %
A. One part of RNA A. RNA 31 Uk 91T
B. One part of DNA B. DNA 3T Ush ¥
C. Oneenzyme C. ThU~eH
D. One Co-enzyme D. Ush hl-T~IEH
78.  The Genotypic ratio of monohybrid 78. U HeRl M I SAHICTSIU STUT ©-
Cross is-
A 9:1 A9
B. 97 B. 9:7
C. 1:211 C. 1:21
D. 9:3:3:1 D. 9:3:3:1
79.  How many secondary spermatocytes 79. 400 IERIITSAT o s o T foha etk
will be required to form 400 TSR ITRTERTAN bl SATITTIHaT BIT?
spermatozoans? >
A. 100 A. 100
B. 200 B. 200
C. 40 C. 40
D. 400 D. 400
80. Which one is formed after fertilization 80. fa8=r & aTe STUE | ST @-
from ovule? A
A. Seed
B. Fruit B.
C. Embryo o\
D. Cotyledons D. dfiso
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81.

82.

83.

PART -V

English

Franz looked for opportunities to skip
school to do what? In “The last lesson”.

A. Work on mills

B. Go fishing

C. Water the plants
D. Collect birds eggs

Ratan said to me, “We shall go to
Mumbai next week.”
Choose the correct Indirect speech.

A. Ratan told me that we would go to
Mumbai next week

B. Ratan told me that we would go to
Mumbai the following week

C. Ratan told me that we should go to
Mumbai

D. None of the above

Read the passage and answer the
question:

Roshni Bairwa remembers running from
her home in the village to the room
where the Bal Samooh (Children’s
group) met. “My parents are getting me
married, you must do something”, the
then 12 year old told her group of

20 children.

Roshni was protesting against-
A. Dowry system

B. Child marriage

C. Purdah system

D. Sati Pratha

84.

85.

86.

ST

What is the universality of the theme of
the Poem, “My Mother At Sixtysix”.

A. Death is a truth
B. Lifeis areality
C. Everyone is happy
D. To show oldage

Which of the following is the correct
sequence of Note Taking?

A. Record, Reduce, Recite, Reflect,
Review

B. Review, Record, Recite, Reduce,
Reflect

C. Reflect, Reduce, Recite, Record,
Review

D. Recite, Reflect, Reduce, Record,
Review

They are cleaning the room.

Choose the correct passive voice.

A. The room is being cleaned by them
B. The room was cleaned by them

C. The room cleaned by them

D. The room was not cleaned by them
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87. The types of wars the poet talks about in 91.  Which of the following is the correct

the poem “Keeping Quiet” are- complimentary closing in a letter?
A. Green wars, wars with gas, wars A. Yours Sincerely
with fire

. Your’s sincerely
B. Verbal wars

B
C. Technological wars C. Yours’ sincerely
D

D. Nuclear wars . Yours sincerely

88. An informal letter is written to- 92. The 100" tiger had-
A. The Principal of the School or [Tiger King]
College A. Dbeen shot dead
B. Family and Friends B. fainted
C. Official work addresses C. disappeared
D. Manager of the bank D. been setfree
89. They had played a match. 93. | think -------- man over there is very ill.
. . He cannot stand on his feet.
Choose the correct passive voice.
A. A match had played them A a
B. A match had been played by them B. an
C. A match had been played to them C. the
D. They will be played a match D. No article
90. What was Jack’s full name in the lesson 94. What is a summary?
“The Third Level™. A. A brief statement that gives the
_ most important information about
A. Walter Braden Jack Finney something
B. Stephen Jone Jack B. Clothes that are worm during the
summer season
C. Ray Douglas Bradbury C. Aninteresting lengthy write-up

about something

D. None D. None of the above
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95.

96.

Where is the Name of School/College,
office/Institution written in a Notice?

A. At the top
B. Below the signature
C. Under the heading

D. At the bottom

Read the passage and answer the
question that follows:

Cataract is the major cause of blindness,
caused by a damage to the cornea. As
one grows old the lens of the eye
hardens, loses its transparency and
becomes opaque. It obstructs light rays
from entering the eyes.

Which word in the passage means, “that
through which light cannot enter”.

A. Transparency
B. Cataract
C. Opaque

D. Lens

97.

98.

What did William-O-Doughlas desire
for visit to California in the lesson
“Deep Water”.

A. To beajudge
B. To learn swimming
C. To be with his mother

D. To learn Riding

Read the passage & answer the question
that follows:

Andrew Fang is a legend in bowling.
He was voted sportsman of the year in
2000. He was 23. He started bowling
when he was nine, picking up the sport
from his parents. When | was starting
my family supported me by paying for
my training and equipment.

Andrew Fang was introduced to
bowling by-

A. Parents
B. Friends
C. Coach

D. Teacher
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99. Read the passage and answer the 100. She said to her brother, “Do you like
question that follows: Chocolates?”

| had a dove, and the sweet dove died,
And | have thought it died of grieving;
O what could it grieve for? Its feet were

Choose the correct indirect speech of the
above sentence.

tied A. She told her brother he liked
With a silken thread of my own hands chocolates
weaving:

For what is the bird grieving? B. She asked her brother if he liked

chocolates

A. Trees

B. Nature C. Her brother told her that he liked
chocolates

C. Freedom

D. Love D. She told her brother that she liked
chocolates
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SET-A

3T ifehd T T 99T 28 rfershad 3 : 100
Time for making answers : 2 Hours Maximum Marks : 100
qNe:

1. 39 9 GRashT § UTel |WRT — 16T srfrerwar, witaes fom, womam fomm, sia famm qor oifsdt 71
Tk W H 20-20 T2 ¥ | ek T 1 37 1 ¢ | il I ged AT e 2

2. T % I, & T OMR I-IE (Answer Sheet) TR 3ifera T |

3. SRUICHe HodTeh Tgt fehdT ST |

4. Tore off T8 o HeTHIe AT AN O TS WIATSEA T T SART A 8 |

5.  OMR ITE-91 (Answer Sheet) ST THRT Shid THIT THT RIS JETALUTT T s /e I8 we Iy an
It Are ot frerae anfe ug o foreres wertasu a8 T B 9w |

Note :

1. This question booklet contains five parts — Nursing Aptitude, Physics, Chemistry, Biology
and English, each part has 20-20 questions. Each question carries 1 mark. All questions are

compulsory.
2. Indicate your answers on the OMR Answer-Sheet provided.
3. No negative marking will be done.
4. Use of any type of calculator or log table and mobile phone is prohibited.

5. While using Answer-Sheet care should be taken so that the Answer-Sheet does not get torn
or spoiled due to folds or wrinkles.
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